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500 Ex3 6,841,255 3,629,673 3,211,582
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511-01 2 DBX3 5,181,718 2,082,551 3,099, 167
ONABEM LX2l ALY 273 81,308,0008 81,308 60,551 20,757
OB=% MEXIY 84 196, 107,000%! 196, 107 142,197 53,910
OH4HelAl&(RIIASEA 23 3,318,000,000% 3,318,000 431,000 887,000
ONAAEY LX2I&FE X 137,500 0 137,500
520 Al - SHIEE2S 323,537 211,122 112,415
521 Al - SHIEE2S 323,537 211,122 112,415
521-01 Al - SHIEE3S 323,537 211,122 112,415
OXNABEM X2l A 16,040, 0002 16,040 11,920 4,120
OB=% KUIAERI 233 9,805,0009 9,805 7,110 2,695
OBt YR SHAL X AY 39,100 0 39,100
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[ 323,537 211,122 112,415
2 6,321,339 1,749,771 4,571,568
XA HMIIBE XN 2,536,555 1,099,334 1,437,221
=2 1,620 1,620 0
2 336,000 336,000 0
[ 63,180 63,180 0
2 2,135,755 698,534 1,437,221
XSG AHMEEI|E XY 2,526,217 1,088,996 1,437,221
2 336,000 336,000 0
< 61,560 61,560 0
2 2,128,657 691,436 1,437,221
SCAE ANLSEUE ALY 1,437,221 0 1,437,221
401 AlZHIZ =20 1,437,221 0 1,437,221
01 A& HI 1,416,245 0 1,416,245
OS2 AR OMHOIE AXI('1E ZE) 1,416,245 0 1,416,245
02 Zteldl 15,504 0 15,504
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=201 #8435 342,430 329,362 13,068
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HUX & o 23 1,180,944 967,744 213,200
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WA RIS A =4 4,318,350 1,431,000 2,887,350

2 3,318,000 431,000 2,887,000
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ORIANSLHHI H=XMEH
2 & 3,156,595,000& 3,156,595 431,000 2,725,595
= 3,156,595 431,000 2,725,595
02 2feltl 150,000 0 150,000
ORIANSLHHHR H==XMeld Zeldl 150,000 0 150,000
= 160,000 0 160,000
03 AIE 2 THHI 11,405 0 11,405
FIASMLEX Ha=Xeld ALRU
3,168,000,000& = 0.36% 11,405 0 11,405
= 11,405 0 11,405
HY2FZH (M) 52,856 46,272 6,584
ol 2| (Z ) 35,416 29,532 5,884
ol AHI(Z M 2t) 35,416 29,532 5,884
101 @14l 35,416 29,532 5,884
01 2= 35,416 29,532 5,884
OZHIL A2t 2225 (20A124)
Z & 35,416,000 35,416 29,532 5,884
Jl2 24 (Z M) 17,440 16,740 700
Jl2ZHl (ZHM2t) 17,440 16,740 700
405 TtokFH SHI 700 0 700
01 et EZFH S 700 0 700
O&#AJ| 2Y 700 0 700
Hees (M) 3,007,826 0 3,007,826
SEXE(Z M) 7,826 0 7,826
gHet = 7,826 0 7,826
802 Btet=JIEt 7,826 0 7,826
01 2 DEBX=ttet= 50 0 50
OMNMBIESIIAASEINSAY Ol Rt (S 8]) 26 0 26
OMEEIAANEIMNE ALY 24 0 24
02 Al - EHIEXSEHEZ 7,776 0 7,776
ODggelXl =&EAY 1,200 0 1,200
OAt2IHHAAHES SHMMHX 2= At 6,574 0 6,574
OZZ2Y HAZLTAE XA 2 0 2
HWEHAXS(Z M) 3,000,000 0 3,000,000
LHEHeH X = 3,000,000 0 3,000,000
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01 JIEtIHEES 3,000,000 0 3,000,000
OssHXZeEESH 853 3,000,000 0 3,000,000






